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" 63A_ Using Graphs to Find Solutions of Cubic Equations

Use the graph to find the zeros of each function.

a) Graph:
144 J’

1.
Real zeros:
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Factor(s) that create the zeros:
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Possible equation of the curve to the left:

Y= X3+ Xx" 22X-33%.

Real zeros:
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Factor(s) that create the zeros:
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Possible equation of the curve to the left:
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Real zeros:

€) Graph: _
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Factor(s) that create the zeros:
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: Possible equation of the curve to the left:
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HHH Y=x3+ 8%+ 5x 14
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T63A " Using Graphs 7o Fnd Solutions of Cubic Equations.

2. Using a graphing utility, use the table of values and/or the graph to find the x-intercepts. If necessary, round
your answers to the nearest thousandth.

a) y=x>—8x2+19x-12 y=x2+2x2 -12x+10
(ho) Cq ®79, 0)
3,0 ;am o)
%{j(‘)) (/, $9%,0)
¢) g(x)=x*-14x* +47x-18 dy h(x)=x+x?+2x+24
(0,938, 0) _‘ C’“BJO)
( 4,56%0)

C20) ,
3. Using a graphing utility, use the table of values and/or the graph to find the solutions to
the equation f(x) =0.

a) f(x)=3x%-7x? +8x-2 b) f(x)=-4x>-Tx% +4x+3
B pm - G O
X= 4 X="2.051, = 0.69,
¢) f(x):*x3+2x2+5x——6 d) f(x)=x3——3x2+4
41*‘, 'l g\
- 7 ) }JO’L’:’) X

4, You are designing a swimming pool with a volume of 4800ft°. The width of the pool should be 7 feet more
than the depth, and the length should be 32 more feet than the depth, What should the dimensions of the
pool be? (draw a sketch of the situation)

ir—ZX X (et Yl 3>) = 13D

A X (x3+3‘?2<‘+>}‘1>
7 -
‘Z—“‘X*;} 39 2 X~ {300 = O
X = Y Se

rdth = At
Dims i~ = 4O £
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638 Finding Real Solutions of Polymomial Bquations Graphically

#2— 4: Find the solution for each problem. Verify that each answer truly is a solution.

2. x343x%2-x-8=-5

Proposed Solution(s): X 47)— ! ) |

V-3
4 v Verify your solution(s):
o) 2 _
) Y3~ 73 C
Tk A (O
N R R g
N4 -
B 2
f Y3y =) -2
3./
o] 2, )
1.0 (l) (3(/)}"([3“)) _ /5,/ /
Lvv L r 2 ~ Y ’
3. 2x3 +3x2 —18x-20=7 Proposed Solution(s): 'X'd“'}/‘*)ff) >
3 v Verify your solution(s): )
p 2(-3y ¥ 33 AR -3y~
- 227y F D FSY T
4 &.-521) F 1 FSY¢ —do = 7 v
2 ;(»1,5)3 F3LS) ms()5) ~ 0 =
< S YO %) SN o B R
& - y L4 {— ) ‘t—‘ 7 - 7 l/
; W3S 30 AL3) e =
C 27~ -2 &
+ T 7 =0
4, 3x3-2x2-3x+2=12 Proposed Solution(s): X =
4
14l
e v Verify your solution(s):
3 > -
0 Y 2)-200y - T >
8 3(y>» Py — 6 >
£ | . - D
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- 63B  Finding Real Solutions of Polynomial Equations Graphically ~ ~ =

6. Find the solution(s) to each equation by graphing.

a) x*—x3465x2413x-8=20 b)) x%—xt+xd-2x?—11x+12=10
X ="2.067 ov 1384 x = =496,
0,117, o
2036
¢) %x4+x3—5x2+3x—2=—2 d) (v+1)(x+4)(x-7)(x+6)=25
Y= =450, 0,075%, 1,753 X="6,19, 73,633, "l330, 7,05

7.  Considering the general shape of a cubic function, how many solutions can a cubic equation have? Explain
your answer clearly and give an example of each.

oL el 2 lutions el Solo Frons
‘j/ 3’[‘
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ST T
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8. The average amount of bananas (in pounds) eatén per person each year in the United States from 1995 to
2000 can be modeled by f (x) =0.298x> — 2.73x> +7.05x + 8.45 where x is the number of years since

1995, T
a) Graph the function using a graphing calculator and sketch the graph. JoA
Y/ \ N TN VO T E}
. SIP T 5w s 7
b) In what year did the average nuinber of pounds first reach 147 ( P > @ N )
o . ' “ 1995
Tn the t}eau' (116 ( |71 gears AN 1995’) 19y

¢) When was the average number of pounds equal to 13.5? Explain your thinking., .
At &\C{wm:ﬁ hwes Y e wancmons He «( Solotiows fn a cadorc,
Whar X = 1~ —7 (T,%’”ﬂ W [99¢
e ¥ 7 2T 0 T ﬂ{% 1997
eey® 7T Da the e 270
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